iﬁb% - % g
1568 2R - FYFIzr- s - 2nflf 44 Ry

A H Y FRFELE L (Z &5

,FL 2 :jé»ié’n%} AR i g
éﬂ*F’* 90 4 48 [8:30-10:00) AT EL

&g : 100 A

MR A LR T E PSR AT S § % kRO A
%J'Q?ré*ﬂaimg’é“ﬂ%ﬁﬁ
F oL PR R AR o (A RMENL (F

?J-A,\o!
RS AL (2 100 &)

- ~ Draw Lewis structures and indicate hybrid orbital, formal charge for

’:\3\

the following molecules (20 )
(1) CHsNO;  (2N;  (3)Os  (4)CH,N,

= ~ A 20.0 mL sample of HCI (M.W.=36.5) is titrated and found to react
with 42.6 mL of 0.1 M NaOH(M.W.=40.0). What us the molarity of
the HCl solution. (10 %)

~ Calculate the hydronium(H+) and hydroxide ion (OH)
concentrations of pure water at 25°C. (10 #)

2~ Describe the difference between bonding and antibonding molecular
orbitals. (10 »)

I ~ Using the VSEPR model to predict the shapes of the following
molecules orions. (20 %)
(1) BF, (2)ICly (3)XeF, (4)AICI; (5) SiCly

= ~ The following reaction at 25°C is spontaneous? If not, calculate the
temperature at which the reaction becomes spontaneous. (10 »)
CaCO3(s) —Ca0(s) + COx(g) AH°=179.2k]  AS°=160.0 J/K

(17 %27%)



= ~ Identify the difference of following terms. (20 4*)
(1) Covalent bond / lonic bonding
(2) Valence band / Conduction bond
(3) Galvanic cell / Electrolytic cell

(4) n-type semiconductor / p-type semiconductor

(%27 % 27%F)



